1. ohe 2614 [ 0 7 sABC o 9419 o, /B o] 718 Falelet,

A




T 94 A 1+ AABC 9] Alo|a, Wi ele] vix]52o] Aol
2cm ©]th. AABC 9] Ho]7} 24cm? € o], AABC <] A|H 2] o]
& Totoiet

A

2cm C



3. T2 2™T 22 WY ABCDOIA /A A
o /B A77b7: 39 W, Co A7 T3}
of .,



4. & 1A AABC = AC = BC ¢l o]5HAZtgolth, BD = CD
o]il /B =35° < uf, /ACD 9] 37]&9

A

B35

O 65° @ 75° @ 85° @ 95° ® 105°



1;]-2
S 2]
Eloﬂj\:' ;é_l] 1=
a = AABCY
Uielth AC 9 4
EO]:__-Q




@ ¢A =:C, AB//DC

@ AABD = ACDB

® AB//DC, AD = BC

@ AD =BC, /A + /B = 180°

® /A + /B =180° <A + /D = 180°

A



7. g AZH ABCD FelA BalAde] obd A7 (& 0
gzbilo] gk Heltt)

A

=

@® OA = 5cm, OB = 7em, OC = 5cm, OD = 7cm

@ (A=771°, (B=103°, /C=TT°

® AB = 5cm, BC = 7cm, CD = 5cm, DA = 7cm

@ /OAB = 30°, /0CD = 30°, AB = 5cm, CD = 5cm

® AB//CD, AD = 7cm,BC = 7cm



g 193 gL WPAEY ABCD 7}
(DAC = 48°, /DBC = 42° < o, Ly zr
7 Fholat,

it

L
N

~<

[

g ©



9. o} J7olA AD + DE 9] Zo|=? (&, DABCD & HPAIHF o]
)

B ~12em--"C

@ 14cm @ 15cm ® 17cm @ 19cm ® 36cm



10. t+& 194 AC//DE, BC: CE = 2:1°]1, AABC = 24cm? ¥
o], DABCD &] §o]&=?

@ 30cm? @ 36cm? ® 40cm?

@ 48cm? ® 50cm?



